H A

Fasteners

217



d
1201 KSS #E#T#042E WIRE SADDLE OX ]

94V-0 MEE BR

B : mm
B gk R ~F Dimension RIS EERE B
Item No. L W1 H1 H2 M1 T1 Packing
JWS-0402V0 50 45 51 28 35 0.5~1.6 100pcs
JWS-0504V0 5.1 53 63 4.4 35 0.5~1.6

8 : ULAHRZNYLON 66 (B) » BHNZELR 94V-0 ©

< (71

w1 > L |«
2.4
H2

1201 KSS #E$HT 042 E WIRE SADDLE @ @

94V-0 |EE BR

Bl mm
L R f Dimension  giR7 /X BARE @ %

Item No. L W1 H1 H2 M1 T1 Packing
JWB-0706 40 | 7.7 9.7 64 3.0 1.6
JWS-0605V0 3.8 6.6 78 5.0 35 1.6

100pcs
JWS-0706V0 38 7.9 9.7 64 35 1.6
JWS-0910 40 93 134 107 35 1.0

& : JWS-0605V0, JWS-0706V0AULEHE ZNYLON 66 (H) » BiNELR

94V-0

JWS-0910, JWB-07064ULE#ZNYLON 66 (Z6) » BN Z4R 94V-2 o

W1 > W1l =<
JWB-0706  JWS-0605V0,0706V0,0910

1201 KSS BB R42E (#93) LOCKING WIRE SADDLE @ @

EENE BR

B : mm
B g R ~t Dimension EFAPCHR a8
[tem No. W1 H1 H2 H3 $#EA M1 WRETL Packing
KWS-0 11.0 13.0 40 90 48 2.0
KWS-1 11.0 19.0 105 142 48 2.0
KWS-2 11.0 27.0 19.0 230 48 20  100pcs
KWS-2L 104 180 12.0 150 48 4.0
KWS-3 11.0 358 280 311 48 2.0

#MHE : ULEMEZNYLON 66 (&) » FHNFLR 94V-2 ©

Wi [« essle > Wi j«  >laol 3 | EARSITL 4.8mm » IS EER - BENER S BAHKAED « 4
.......... FRAISEE— N > B BTN > AR A ENEEE
T T @ o
™ GE ™ LH3
10 Ll L
E =1 =
V V
KWS-0,1,2,3 KWS-2L

218 BN R R B 55 (02)2555-1929  £16(02)2556-3336  &H1(04)2301-1255 &7#(06)787-2239 =1#(07)323-1488



1201 KSS $H#HTLI04EE WIRE SADDLE @

EEE BR

Bl : mm
U R =~ Dimension BEAPCHR 8
Item No. L W1 H1 H2 7M1 RETL Packing
PWS-1013 48 178 104 138 4.8 2.3
100pcs
PWS-1715 50 16.7 23.0 15.0 4.8 2.4

& : ULERZNYLON 66 (Z5t8) » BN 4R 94V-2 o

% BARETL 4.8mm > SLEREEETE 0 BFNETEZ BERAES ~ 1
EEE—10 > BRI EAREFEINE » AEEAAREAENEES
4RZF o

1201 KSS $H#HTLI04RE WIRE SADDLE @

EHE RR
B I mm

B R ~F Dimension BRAPCHR 5
[tem No. W1 H1 H2  $#FLM1 #RET1 Packing
. PWS-2824 276 353 24 48 20  100pcs

MHE  ULEMEZNYLON 66 (£8) > BN EHAR 94V-2 ©

1202 KSS FRBESE4RE LOCKING WIRE SADDLE ©
B I mm

B g R ~f Dimension BAPCHR a8
Item No. w1 H2 #7 M1 #RET1 Packing
WS-1522 15.0 21.2 45 20  100pcs

#ME : ULEMEZ NYLON 66 (4t) » FHNHLR 94V-2 ©

ESMEB R hEIE 5(02)2555-1929  &15(02)2556-3336  A(04)2301-1255 47(06)787-2239 EHk(07)323-1488 219



®

1202 KSS E#%EI5R43E LOCKING WIRE SADDLE ©
BN i mm
A g R ~f Dimension HEFPCHR a8
Item No. W1l H H1 H2 7M1 #RET1 Packing
KWS-0N 11.0 127 9.2 4.0 4.8 2.0
KWS-1N 11.0 179 148 9.6 4.8 2.0
KWS-2N 113 26.7 23.4 184 4.8 2.0 100pcs
KWS-3N 11.0 348 313 26.2 4.8 2.0
KWS-1114 10.7 212 17.8 13.7 4.8 2.4

B ULEHEZ NYLON 66 (&8) > BHNELR 94V-2 o
F% B 4.8mm > FBRIGEEE » BRREEZBERBAES > B

w1 55} Wi e siee  ARERFFHE  AFEASRESENEEERZA

v —
s o W= g,
45 _A_ 4.2
KWS-0N,1N,2N,3N KWS-1114
1202 KSS H#BIIARE LOCKING WIRE SADDL @
Bl : mm
B g R ~f Dimension EFAPCHR a8
Item No. W w1 H2  $#FLM1 #RET1 Packing
KWS-0506 9.0 5.0 5.4 4.8 3.0
KWS-1106  13.0 105 5.4 4.8 1.6
KWS-1110 144 109 98 @ 22
100pcs
KWS-1308 172 127 8.5 5.8 1.6
e w130 kel KWS-1310 188 = 13.0 9.9 4 @
KWS-2314 283 229 136 48 34

8  ULEMZ NYLON 66 (Zst) » BN E4R 94V-2 o

% | SR ERETL - BIBREERE » BRNEEZBRBIAES > BIF]
SEMFELE > AFERLRREBENEEEHZA

W W w > w
1 Wil g wi |<FT_f >l40l« lewis| | > 97 |«
H2
. —lr t E H213.5 X 2
T i H2 12 5
'EL L=
14 J 7.6 i:l75_5 i > 66 <« .

KWS-0506 KWS-1106 7.0 5.5 KWS-1110 KWS-1308
vl
i< &
15
R8T,

1K

24 x
E KWS-1310 > Kj_zz KWS-2314
C: :DT .

BEARETL

220 BN R R B 55 (02)2555-1929  £16(02)2556-3336  &H1(04)2301-1255 &7#(06)787-2239 =1#(07)323-1488



1202 KSS B4 E EDGING WIRE SADDLE ©
BN i mm
B 5 R ~F Dimension a8
Item No. W W1 H H2 A B c  Packing
HL-1109 185 111 400 88 156 140 123
HL-1817 254 180 568 168 235 210 210 pes
ME . ULEHEZ NYLONGG () > BikEAR 94V-2 ©
< W >
Tjé\ﬂ
H Jg C *
L H2
N—o 1V *
»>» W1 |«
K[
AlB>» C
j—m Y i,
> 3.0
1202 KSS B4 E EDGING WIRE SADDLE ©
B : mm
B g %
Item I\]jo. oo 2 Packing
ES-16 16.4 9.3 100pcs

ME . ULE1EZ NYLONGG (Z5t8) » BHNEE4R 94V-2 °

202>
1202 KSS A EIE42E EDGING WIRE SADDLE @ &

94V-0 |EE IEBR

B : mm

Eid B R I Dimension a8
Item No. W W1 H1 H2 Packing

ES-1207V0 19.3 11.8 12.3 7.3 100pcs

ME : ULEMEZ NYLONG6 (H) » k4R 94V-0 °
15.3 123 ﬂ
>0« 2
o5 EMRIETL

ESMB R hEIE 5(02)2555-1929  &15(02)2556-3336  A(04)2301-1255 47(06)787-2239 EHk(07)323-1488 221



®

1202 KSS EEERIFR4ZE WIRE SADDLE @

EEE BR

B I mm
B R ' Dimension  gig7l/@ @EAIEF 8%
Item No. W1 H1 H2 M1 T1 Packing
BWS-1106 11.1 13.0 5.0
BWS-1112 11.1 183 10.3
7.8 8.7 100pcs
BWS-1120 11.1 27.2 19.2
BWS-1128 11.1 356 27.8
ME  ULEMZ NYLON 66 (&58) » [HNEELR 94V-2 ©
<— 155>
W1 |«  >{56«
=<t
H1 H2
l v
> 74 |« J%f
1203 KSS NE!ZARE N TYPE WIRE SADDLE ©
B : mm
B g R ~f Dimension o
Item No. W1 H1 H2 Packing
PCC-1 10.6 10.7 6.3 100pcs

B | ULEMZNYLON 66 (KE) » BHNEAR 94V-2 o
F3% | BAREEFL5.6mm > SIBRGEEE > BIRIRBARINE o

A

H1H2

1204 KSS 743BY3R4ZE WIRE SADDLE @

|RE BR

B : mm
B g R ~f Dimension 8
Item No. W1 W2 W3 H2 H3 Packing
TWS-3 16.3 24.8 27 8.4 8.8 100pcs

ME  ULEME ZNYLON 66 (£8) » BANEAR 94V-2 ©

222 BN R R B 55 (02)2555-1929  £16(02)2556-3336  &H1(04)2301-1255 &7#(06)787-2239 =1#(07)323-1488



1204 KSS [E&!34EE WIRE SADDLE @

EEE BR

Bl mm
A g R ~F Dimension HERPCHk a8
Item No. W1 H1 #7F. M1 #RETL Packing
RH-5 5.1 8.0 5.5 2.0
RH-6 6.2 9.5 8.0 1.8
100pcs
RH-8 7.5 115 6.2 2.0
RH-9 9.6 18.0 9.5 2.0
ME :ULEHEZ NYLON 66 () » BHNELR 94V-2 ©
w1 W1 <«
H1 H1 H1
RH-5,8 RH-9
1204 KSS C BIFR42E WIRE SADDLE ©
B mm
y e R ~t HEFAPCHR
B R f ; (223
Item No. Dlmﬁr;swn #7, M1 wE T1 Packing
RWS-6 6.2 6.0 2.0
100pcs
RWS-7 7.0 7.8 2.0
8 ULEHEZNYLON 66 (Zst) » BN ELR 94V-2 o
1204 KSS $E43543E DOUBLE ROUTING CLIP ©
B mm
R ERPCHR | 8
Item No. e AL 7L M1 RE T1 Packing
DR-6 6.2 7.7 3.2 2.0 100pcs
#E  ULEMEZNYLON 66 (456) > BN ELR 94V-2 o
«—13.8 € 7.6
s +
H1
A2
> w1l e G 1:”

ESMBR BB 5(02)2555-1929  &15(02)2556-3336  Ah(04)2301-1255 47(06)787-2239 &k#(07)323-1488 223



®

1204 KSS 3&4RE WIRE SADDLE

GAS

EEE BRE
BN I mm
BT HFIPCIR 5
~ ltem No. $ETL M1 #WET1  Packing
~ LwS5 7.8 5.4 4.0 2.4 100pcs

8 : ULE1EZNYLON 66 (&8) » BHNEALR 94V-2 o

[ 13.3 >

o

«— 20 —>

1205 KSS A NHI4RIR CLIP TWIST TIE

G

ENE IBfR
BN : mm
‘ B 5 R ~f Dimension %
- Item No, w1 H1 H2 Packing
‘ CTT-17 16.7 4.2 30.5 100pcs

#E | ULEMZNYLON 66 (K8) » BFNEAR 94V-2 o

i W1
v HIV v
8.2 105 5
. s B
<A
> 10.2 45
<€—19.9>

G

mEE  BR
Bl : mm
B g R ~F Dimension  Higfl /& #ARE W%
Item No. W1 H1 H2 M1 T1 Packing
ST-1 60 317 195 46~48 1.0~28
ST-2 11.0 212 278 48~50 1.0~28
ST-3 104 47 273 46-~48 10~28
e ST-3B 110 50 280 6.2~66 05~2.0
1'12,125}-1303 ST-2005 ST- ST-3C 150 50 320 4.6-~48 05-~16
ST-3D 180 53 362 4.4~48 10~2.4
ST-4S 11.0 13.0 279 42~48 10~2.4
H2 H2 H2 ST-4 150 131 313 46~48 1.0~20
Ly W ST-0560 50 609 205 46~50 16~3.0 100pcs
H1 H1 ST-0605 6.1 53 193 4.0-44 24
mEEs  oT.ac T30 ST-0701 70 13 220 46~48 1.0~28
ST-1112 11.0 153 268 4.6~48 1.6~3.0
o ST-1247 11.0 505 272 4.6~48 16~3.0
W H2 H2 ST-1303 13.5 3.0 450 66 1.8~3.6
1 @Hl %Hl ST-1602 160 51 317 4.4~46 05~16
ST-2005 200 51 365 7.2~76 18-36
ST-4S  ST-0605  ST-0701 ST-2403 235 32 442 48-~50 05~2.6
ME  ULEMZ NYLON 66 () » [iNFELR 94V-2 ©
j:[] H2 Ho H2 H2 F% | (FRETEERERETL > REBBIBRIREIRE - BRSEENIRPM
B ‘%1 @ <§m wi ERHBEENR » FEVF REREEN o
H1 H1
A
ST-1112,1247 ST-1303  ST-2005  ST-2403

224 BN R R B 55 (02)2555-1929  £16(02)2556-3336  &H1(04)2301-1255 &7#(06)787-2239 =1#(07)323-1488




ey

1209 KSS fREEsc42E WIRE SADDLE @

|RE BR
B i mm
U R I Dimension EAPCHR a1 84t
Item No. W1 H1 H2 H3 $#HfLM1 #RETL Packing
RCS-4 22 40 27 50 40 24 100pcs
#E : ULEMEZNYLON 66 (458) » BN ELR 94V-2 ©
1210 KSS £NiR4RIR PURSE LOCK TWIST TIE ©
BN i mm
Bl g R I Dimension £ #E
Item No. W1 H1 Packing
PL-8 8.0 18
100pcs
PL-0740 7.5 40

B . ULEHZ NYLON 66 (B) » BHNZELR 94V-2 o

1 w Wi Wi
.ﬁ H1 f\. M

PL-8 PL-0740

1212 KSS NTVHRERIR TWIST TIE @

BmEE BRE

BE{iI : mm
B g R~ Dimension RARE[E i
Item No. L W1 H D?:r?]g!ér Packing
TT-05 15 5.1 21.6 4.4
TT-08 2.0 8.0 25.0 7.0
TT-11 1.7 11.6 29.8 10.1
TT-15 1.9 15.0 33.8 13.4
TT-18 1.9 18.6 40.0 16.2
TT-24 2.0 23.6 45.0 213
TTU-05 1.8 5.0 22.0 42 100pcs
T TTU-08 2.3 8.1 26.2 7.2
! | TTU-11 2.3 113 29.7 10.0
TTU-15 2.0 14.8 32,6 13.2
TTU-18 2.0 18.0 38.0 16.5
wi >t w1 >l TTU-22 2.0 22.0 423 19.8
T TTU-08,11,15,28 TTU-28 2.0 280 551 26.7 10
P ULEHEZNYLON 66 (25t) » BN L4 94V-2 o =l

58 | RIRRS 5 ~ FFE > WA RRR 0 SREERR °

ESMEB R BB 5(02)2555-1929  &15(02)2556-3336  Ah(04)2301-1255 47R(06)787-2239 &k#(07)323-1488 225



®

1215 KSS F:BETUHR4RIE MOUNTING TWIST TIE ©
B : mm
1 . RAREE
Z ki W W1 H Bundle 2 %
ltem No. - Packing
Diameter
TTB-08 17.4 7.9 27.5 7~10
TTB-15 22.0 14.8 35.2 10~15 100pcs
TTB-20 25.5 20.6 40.0 15~20
ME : ULERZNYLON 66 (A&) > BHNZHELRIAV-2 » [EEERRE o
A5EE L 1 MBETUESET 0 A EEIREFLZFE ©
2.H4RR5 5 ~ E > WHJERE » ZREEFER o
H
L w1
\W
1216 KSS FLBETCHI4SZ ADHESIVE WIRE SADDLE ©
B : mm
i a8
Item No. L o e nZ Packing
AWS-11 19.8 20.0 11.2 11.0
AWS-9R 16.0 29.8 8.5 13.6
100pcs
AWS-1210 18.3 20.7 11.3 10.0
AWS-0912 95 15.8 9.0 11.6
ME  ULEIEZNYLON 66 (&) > PHNZFLRIAV-2 » [EFEHRE o
e 15.3 <13.8
w‘o H ’¢ /:% »>|49}« > }:1 +|4£T¢
v Wi " — ? 27? T
H2 17.2 17.3
W1 e H
l é e T LAY B
't e = —— v
AWS-11 AWS-9R AWS-1210 AWS-0912

1217 KSS S EEPREE4RE SPACERSRING @ S

94V-0 W|EE EBR

BN D mm
B 2
ltem No. il iz Gl Packing
SPR-8V0 14.2 28.0
100pcs
SPR-45V0 26.3 22 49.2
#ME : ULEMEZ NYLON 66 (Hf8) » BiNZ4R 94V-0 o

ST RN !

j;u * o.D. N 0O.D.
E H1 H2H1
v L vy
SPR-8VO0 SPR-45V0

226 @R thEES(02)2555-1929 £415(02)2556-3336 Ath(04)2301-1255 AT(06)787-2239  Si#(07)323-1488



1301 KSS EEHASHEE TRANSISTOR HOUSING

® G e

94V-0 MEE BR

Bl : mm
B R R~ %
Item No. Dimension Packing
TH-1V0 el 100pcs

ME  ULSHEZ NYLONG6 (BE) > [KELR 94V-0 °
AR . REBREE  FRERER T ZEE > LAMBEAIEA

y
4
TS
5 5 T
>| 69 |«
*
9¢9 7.1
~ A
1301 KSS ESALEE TRANSISTOR HOUSING ©
B i mm
B 5 8%
Item l\fo. L o i i Packing
THR-2 4.0 10.1 2.8 5.0 100pcs
ME : ULEMEZNYLON 66 (Af) » N ZELR 94V-2 o
v
L Cll CIIEI Xl.o
A +I1_8¢
i
H
v
l— w —>
1302 KSS ESA2E TRANSISTOR COVER Of
B D mm
B 5 R~ %
Item No. Dimension Packing
TH-2v0 il 100
TH-3V0 N pcs

M8 . ULAHRZ NYLON 66 (Bfa) » BHNEE4R 94V-0 o
BR . RETRE  FHENTSSEEREITEH -

» <36
f -
157+ L 14
11250 | ij_(a; : I:'
&105#1*153& \«1213»1 [A>| 69 L
TH-2V0 TH-3VO0
1302 KSS ZAB{EFARE NTC THERMISTOR HOUSING OF
Bl : mm
‘ I%em st. L i h Pszlgﬁg
‘ TRH-7VO0 5.1 7.5 16.5 100pcs

T
e

> 3 <
€« W >

L

ESMB R HEIE 5(02)2555-1929  &15(02)2556-3336  A(04)2301-1255 47(06)787-2239 EHk(07)323-1488 227

8  ULA1EZ NYLON 66 (B8) > BikFE#R 94V-0 °




®

1303 KSS EEHASHE TRANSISTOR HOUSING

G

EEE BR

Bl : mm
BOR (253
Item No. gt 2 Packing
TR-3 1.1 2.1 100pcs

\

;168+9¢132#
1305 KSS #/ WASHER

A2

Hlfw i )
A 46¢ 3 j

#ME : ULEZ NYLON 66 (45f) > BHNZELR 94V-2 ©

G e

mEE BER
Bl : mm
B (23
Item No. i D Lo Packing
WR-3207 15 317 100pcs

H
> e

i

OD.

l

& : ULEHMEZ NYLON 66 (A5f) > [HNELR 94V-2 ©

1306 KSS #5 WASHER ©
B : mm
Js
E H o.D. D. o= .
WR-0503 0.8 45 2.5
WR-0603 0.8 6.0 3.0
WR-0803 1.0 8.0 3.2
WR-0904 0.8 9.0 43
100pcs
WR-1005 1.0 10.0 5.3
WR-1206 1.5 12.0 6.4
> b= WR-1208 15 12.0 8.0
@ ’ﬂﬂ* %WR-2011RU 2.0 20.0 10.6
L J ME  ULEHEZ NYLON 66 (Z5t8) 5 [N 4R 94V-2 o
Ob. UNEHEECIRAL » A2 EP.227 ©
MWR-2011RUA B EIAREEE 458 (TPE) M E (N BIRFRmAREA) ©

1307 KSS f1E* HEADBOARD WASHER

GAS

)‘

E[T
=L

;

FEE AR
B . mm
iU 8
‘ — H 0.D. ID. 1D.1 e
‘ HBW-1808 11.7 36.7 8.6 18 100pcs
#E : PE (&) °
OD.
1.D.1 H |«

228 BN R R B 55 (02)2555-1929  £16(02)2556-3336  &H1(04)2301-1255 &7#(06)787-2239 =1#(07)323-1488




1308 KSS [EIfe¥ /R ROUND WASHER

€ H >

G

1308 KSS [El#fifE® /R CONOID WASHER

¢H+| v

< H1 >

THO}
ID. ID2 86 OD.
*

1310 KSS ESRAS# )/ TRANSISTOR WASHER

@ Hoe

oD.—>
>{0oD.1}«
L
7

=

> ID. [«

Y

> T i<

|RE BR
Bl : mm
1) = bt
I%;m ,\f’: H H1 0.D. ID. ID.1 Pgﬁg
RW-45 45 3.1 8.0 4.0 6.5 100pcs
#E . UL Z NYLON 66 (Z5f8) » BHNEZE4LR 94V-2 o
©
Bl : mm
I%im r\ff H H1 OD. ID. ID1 ID2 Pf;ﬁg
CDW-12 122 107 10 33 83 69 100pcs
ME : ULEREZ NYLON 66 () » [HNFLR 94V-2 ©
©
B : mm
J s
I%am Nﬁf H H1 OD. OD.1 ID. P;ackaﬁ g
TW-63A 05 81 60 35 28
TW-63B 12 14 60 35 29
TW-63C 17 23 60 35 29
TW-63D 19 32 60 35 29
TW-63E 20 26 61 35 29
TW-63F 13 20 63 34 29
TW-73A 30 18 66 42 32
TW-73B 13 25 69 36 29
TW-83A 13 37 77 58 31 100pcs
TW-83B 12 56 78 36 29
TW-83C 20 09 78 43 32
TW-83D 13 23 80 35 29
TW-83E 37 12 78 59 32
TW-123ABK (%) 05 30 120 59 32
TW-133A 15 17 127 79 37
TW-163A 15 20 160 60 3.2
TW-189A 33 15 180 124 93

ME I ULEMZ NYLON 66 (Zx8) » BiNEAR 94V-2 o

ey

ESMEB R hEIE 5(02)2555-1929  &15(02)2556-3336  A(04)2301-1255 4 7(06)787-2239 EHk(07)323-1488 229



®

1311 KSS BREEERE TRANSISTOR WASHER ©
B : mm
B g R ~f Dimension o
Iltem No. H 0.D. Packing
TRW-3 3.0 5.7
100pcs
TRW-5 4.6 8.9
8 : ULERRZNYLON 66 () » BANZEALR 94V-2 o
4.4
OD.
2
TRW-3
1321 KSS LED FE LED HOLDER ©
B : mm
L R ~f Dimension 8t
Item No. L W W1 H I.D. Packing
LE-3 3.6 7.2 3.6 31 12
LE-6 3.6 7.1 3.9 6.0 1.2 100pcs
LE-13 4.0 6.0 3.9 129 14
& : ULEHZ NYLON 66 (Z5t8) » BHNEE4R 94V-2 °
1.D.
W L <
1322 KSS LED FE LED HOLDER ©
B : mm
B g R ~F Dimension %
Item No. H Packing
LK-5 5
100pcs
LK-18 18

M8 : ULAHRZ NYLON 66 (Z5f8) » FHNEE4R 94V-2 o

)i4.1i¢*545¢

230 myimrhEZS(02)2555-1929 £15(02)2556-3336  Arh(04)2301-1255 AF(06)787-2239 &k#(07)323-1488



1327 KSS LED % LED HOLDER

G

mEE EBR
Bl mm
BoogE R ~F Dimension 8
Iltem No. W H Packing
LX-3 5 3
LX-6 5 6 100pcs
LX-12 5 12

1328 KSS LED [# LED HOLDER

#E  ULEMZ NYLON 66 (A58) » FikEEAR 94V-2 ©

G

ROE AR
B{I : mm
i R ~f Dimension a 5
Iltem No. H1 H2 Packing
LQT-3 3.1 6.6 100pcs

Lﬂ45l¢

1329 KSS LED [ LED HOLDER

+|4e|¢

H2
H1
<96

#ME : ULEMEZ NYLON 66 (4t) » FHNHLR 94V-2 ©

G e

EmEE BR
B I mm
3R R I Dimension a8
Item No. H1 Packing
LQ-2 2.6 100pcs
ME  ULEHEZ NYLON 66 (&) » BHNELR 94V-2 °
[« 82 >
v
15
|« 6.6 ii
45 <
1331 KSS LED [ LED HOLDER ©
Bl mm
B gk R < Dimension a1 5
Item No. H 0.D. Packing
‘ LDT-17 17.2 57 100pcs

& : ULAMEZ NYLON 66 (&<t) » [HkE4R 94V-2 o
e >on |¢

i

2540 4 1 BEiRETL
T+ﬁ¢T

0.8

ESMB R hEIE 5(02)2555-1929  &15(02)2556-3336  A(04)2301-1255 4 7(06)787-2239 Eik(07)323-1488 231



®

1332 KSS LED % LED HOLDER

G

mEE EBR
Bl mm

iU R <t Dimension 4
Iltem No. H LEDJ& Packing
LD3-6 6.1
LD3-9 9.0
LD3-12 12.0 3@2PIN 100pcs
LD3-16 16.0
LD3-19 19.0

& : ULEHZ NYLON 66 (45f) » BHNZHLR 94V-2 o

1333 KSS LED [# LED HOLDER

G

ENER BRF
B{I : mm
B gF R ~f Dimension 8
Item No. H Packing
LY-14 14.1 100pcs
E UL 2Z NYLON 66 (Zst) > [HNELR 94V-2 ©
»>» 8 |« I 5 r
@ T 4.2 —I— L 1.3
Hox[[4
= 1
“x
.2|¢ 8.4 |«
1334 KSS LED FE LED HOLDER ©
Bl . mm
L R <t Dimension a1 5
[tem No. L L1 W H Hl LED&E Packing
LG3-12 71 36 75 158 120 503PIN
LG3-18 71 37 75 216 175 5@3PIN pes

ME  ULEMZ NYLON 66 (Z5t8) » FikEEAR 94V-2 ©

=
=,
U

> L1

.

v
ENIIY U
j:l:l L J 71
B 1 clfo—g
Y220 5 T migma

232 BISMBRREIE 5 (02)2555-1929 &16(02)2556-3336 &H1(04)2301-1255 &#(06)787-2239 =1#(07)323-1488




1335 KSS LED [ LED HOLDER

G

mEE EBR
B I mm
LU R ~F Dimension i
Item No. L L1 W H H1 LED I Packing
LG8 56 31 55 108 7.8 3@2PIN  100pcs

> W e > L1
)
L0 B
2.9U U )29¥¢L
ﬂ4o|: > 'L

1336 KSS LED [# LED HOLDER

& : ULARZ NYLON 66 (Z5f8) » BHNEE4R 94V-2 o

G

EER RRFE
B : mm
B g R =<t Dimension 8t
Item No. L W H H1 LED Y& Packing
LH-4 5.6 5.4 7.2 4.5 5@2PIN 100pcs

i
= F
H1 * +

UL

4 |-
1-1:‘g é_zg EIRET

0.9»0
3 fek
2.54

1337 KSS LED [ LED HOLDER

8 : ULARZ NYLON 66 (Z5fa) » BiNEE4R 94V-2 o

G e

mEE BR

Bl : mm
Eid B R~ Dimension 8t
Item No. L wW H H1 LED & Packing
LHN-10 5.6 55 12.8 10 502PIN 100pcs

W]
—>|2.6 |<

Tﬁﬁ?

le L »]
> 45 |4

ME  ULERZ NYLON 66 (Z5t8) » FikEE4R 94V-2 ©

EMEB R hEIE 5(02)2555-1929  &15(02)2556-3336  Ah(04)2301-1255 47(06)787-2239 &k#(07)323-1488 233



®

1338 KSS LED [ LED HOLDER

G

ERE IBfR

B : mm
B OR R ~F Dimension 8
[tem No. L L1 W H H1l LEDYS Packing
PLU-9 102 35 8 131 9 5@3PIN  100pcs

#E  ULEMZ NYLON 66 (A58) » FiNEAR 94V-2 ©

’¢

w+| >|L1|e

1339 KSS LED [# LED HOLDER

G

mEE &R
Bl : mm
B gE R ~F Dimension 1 i
Item No. L L1 W H H1l LED#%  Packing
LHK-3 6 1 7.6 6 2.7 | 5@03PIN 100pcs

M8 : ULAHRZ NYLON 66 (Z5f8) » BHNEE4R 94V-2 o

=
> 65; 2‘3“

L |«
12)0

)HJE%*&&%;L

1341 KSS LED B LED HOLDER

G

EEE BRR
Bl . mm
B gR R <t Dimension a1 5
Item No. L L1 W H H1 LED /& Packing
~ PLK-5 82 6 76 9 47 B5@3PIN  100pcs

#ME : ULEMEZ NYLON 66 (4t) » FiNFLR 94V-2 ©

. X
A J
13076 5y
1550 ogi— AR

234 BISMBRREIE 5 (02)2555-1929 &16(02)2556-3336 &H1(04)2301-1255 &#(06)787-2239 =1#(07)323-1488




1343 KSS LED F LED HOLDER ©
B : mm
TR R ~F Dimension 25
~ Item No. L L1 W H HL LEDfE  Packing

‘ PLM-16 6.7 34 51 187 16 302PIN 100pcs

8 : ULEHMEZ NYLON 66 (A5f) > [HNELR 94V-2 ©

==
H H1
!

G @) <

U
e
2.6)@—4; BRI,
1344 KSS LED EE LED HOLDER ©
B . mm
B R ~F Dimension £ 8
Item No. L wW H H1  LEDJ&  Packing
PLX-18 77 96 216 182 5@2PIN
100pcs
PLW-18 97 90 216 182 5@3PIN
ME : ULEMZ NYLON 66 (45t8) > BN 4R 94V-2 o
w > 491« W < 4.9
R T) <28 ™ _f _____ l¢
L= -l
H1 " = D Hr ! =
JOl Oy
320 U U U 320 U BT
554 > L |« 'y L e
l( 08 *‘I) (I,¢2.54
o.ac;1 oL gl ©  0%15 migmy
> 8 [« PLX-18 57 g < PLW-18
1345 KSS LED [ LED HOLDER ©
B . mm
B gE R = Dimension a8
temNo. | |11 W H H1 H2 P1 P2 LED Packing
PLD1-3A 65 2.0 4.7 7.5 5.05 4.65 302PIN

PLD2-3A 9.2 28 45100 27 50 49 7.2 302PIN
PLD2-3B 8.2 26 48 99 26 50 48 7.2 302PIN
PLD2-5C 11.2 45 59 122295 63 56 7.7 502PIN
PLD4-3A 10.2 1.0 10.2 102 26 5.0 6.4 9.2 3@02PIN
PLD4-3B 20.4 4.4 227 9.0 5.6 15.0 3@2PIN

100pcs

#E : UL Z NYLON 66 (£f) » FHNZELR 94V-2 o

L
> w }¢J¢P1 -

v
Hl

L) > [«L1

PLD1-3A PLD2-3A PLD2-3B PLD2-5C PLD4-3A PLD4-3B

ESMEB R BB 5(02)2555-1929  &15(02)2556-3336  Ah(04)2301-1255 47(06)787-2239 &k#(07)323-1488 235



1346 KSS LED % LED HOLDER

G &

mEE AR
BN I mm
B OSR R ~t Dimension %
Item No. L W H H1 P1 LED® Packing
PLT-4 6.7 6.7 7 3.7 3.1 5@2PIN 100pcs
#ME  ULEMEZ NYLON 66 (2458) » FiNEAR 94V-2 o

<« W > L >
LZ > !
— L H
H1 2 i +
T .
ALY
0sia oz, BRER
ol
2.54
1347 KSS LED FE LED HOLDER ©
BN . mm
g R ~J Dimension B i
Item No. L L1 W H H1 P1 P2 LEDJ& Packing
PLR-4 11 12 77 8 4 58 8 5@3PIN 100pcs
FHE : ULEH8 NYLON 66 (2) » BN Z4R 94V-2 o
< L
> 10.4}
H:¢+ > P2
y o<os T
Yoo i
fupar)
1349 KSS LED [ LED HOLDER ©
BN . mm
A g R ~t Dimension a8
Item No. L L1 DI D2 T LED¥®  Packing
PCL-5A 72 45 62 78 15 @5
100pcs
PCL-3H 52 32 48 55 12 @3
FHE : ULE18 NYLON 66 (2) » BN Z4R 94V-2 o
A i *K o2 )| AI |* * !¢D2)!
i TTE:_ == i HJTT ;HJUU
—— L
Y o1 > D1 |«
PCL-5A PCL-3H
l-‘-|
1351 KSS EZZEE CAPACITOR HOUSING ©
B . mm
B3R R ~f Dimension o
Item No. H 0.D. 1.D. Packing
CAP-10 95 125 10.4 100pcs
ME | ULAHEZ NYLON 66 (&) » BN Z4R 94V-2 o
il .
B OD. ID. ¥ H
4. v
A

<
22

236 @R ThEZS(02)2555-1929 £415(02)2556-3336 Ath(04)2301-1255 AT(06)787-2239  Si#(07)323-1488



1401 KSS #EjB4Z%4% PLASTIC SCREWS

PF-TYPE PN-TYPE

#E : PC 8 ULA1&Z NYLON 66 > BiNE4R 94V-2 o

iR | PCHR ~ B R EMBEBEER ©

58 LBEMBRY  AEH - FER > E8K o
2.NYLONHJffi##R /7 EEPC3& ©

WMFEECRER > F2EP.218 0
XURAR « IRIETEDRIBE o

Em

PF-TYPE PN-TYPER

BN R TEE 5 (02)2555-1929 A15(02)2556-3336 &H1(04)2301-1255 &75(06)787-2239

G

|RE BR
B : mm
A 5 Item No. 8
oc wion EFRME W OHL H2 ot
PF-205NK 5.0
PF-208NK M2x0.4 45 80 16
PF-210NK 10.0
PF-306K PF-306NK 6.0
PF-308K PF-308NK 8.0
EBBH prajo pr3tonk OO0 22 100 20
S(Cﬁ;\)/v PF-312K  PF-312NK 12.0
PF-408K  PF-408NK 8.0
PF-410K  PF-410NK 10.0
PF-412K  PF-412NK 12.0 1000pcs
M4x0.7 7.5 2.6
PF-414K  PF-414NK 14.0
PF-420K  PF-420NK 20.0
PF-425K  PF-425NK 25.0
PF-520K  PF-520NK 20.0
PF-530K PF-530NK M5x0.8 87 30.0 3.5
PF-540K = PF-540NK 40.0
PF-620K = PF-620NK 20.0
PF-630K PF-630NK M6x1.0 10.0 30.0 4.0
PF-640K = PF-640NK 40.0
B 3R ltemNo. BBFHE W W1 H1l 8%
2 is - PN-2NK  M2x04 40 45 15
N‘UTE PN-3K  PN-3NK  M3x0.5 56 6.4 2.7
PN-4K  PN-4NK  M4x07 7.0 8.1 3.2 1000pcs
PN-5K  PN-5NK  M5x0.8 80 92 4.0
PN-6K  PN-6NK  M6x1.0 10.0 115 5.0
_—
E;m ﬁf BOFRE W H1  H2 P(?diﬁg
PF-820N 20
NABM PFg30N M8x1.25 128 30 54
PF-840N 40
PF-1030SN 136 30 nggc'\s‘
PF-1030N 166 30
M10x1.5 5.5
PF-1040SN 13.6 40
PF-1040N 16.6 40
B %% ltem No. #BZF#EIE W W1 H1 -
18 PN-8N M8x1.25 12.8 145 64  NYLON
PN-10N  M10x15 167 192 80  100pcs
1) g il
=z EIFEE W HL H2 Pgﬂcjg
[E|SE1R 4%
(%)  PF-823HN &
= M8x1.25 15.8 22.5 5.5 NYON
100pcs
PF-823HNGYJ s
B SR ltem No.  HEZFERAE W W1 H1 @&
o
il s e M8x1.25 12.8 14.6 10 NYLON
©)  pN-eHNGYS e 100pcs

=i#(07)323-1488 237



2001 KSS RJ453%3ERMEE MODULAR PLUG & PLUG COVER

b3 )

WEE S

¥ BN mm
T #
a5 I%Zm Ngﬁo%. A 18 P:Eclﬁlg
2= RJ45-8A2 | MM Cat5> Catb5e K4 (ZX)
RJ45-8A3 MK Cat5 > Cat5e B4R (=X) 100pcs
RJ45-8C6 AR Cat.6 BELE (=X)
RJ45-8C6A AR Cat.6 4BERAR » HEIFFTEBECE (=EX)
Bk EARERG  ESEEARRE -
EE B mm
B g ] EERK 2
Item No. Color .D. Packing
RJ45-60GN iRt
RJ45-60GY )
RJ45-60RD e 5
RJ45-60YW )
s 100pcs
RJ45-60BE )
RJ45-60BK Z@
RJ45-C7GY gz .
RJ45-C7YW =

Rk : AR Cat.5 » Cat.5e » Cat.6 MRISHIAERRARIEEE 2 B EE(RE ©

2002 KSS RJ4SHEEER;EEZETE DUST COVER FOR RJ45 PLUG
B : mm
Bog R < 4
Item No. Dimension Packing
RJ45-DC1 un 100pcs
MHE : EEHREPVC (BE) o
FAIR © FRRJAGIREERSEEREER o
B EEEARE  BHEAGEDITHY o
g .
7.2
v Youte
- H* gy
: —4 13.6 11>
2005 UBZEF UCONNECTOR ©
B{i : mm
B BABEOE EREE %
Item No. Maximum Resist Size AWG Packing
uy2 2.08 26~19 100pcs
585 | A EDASIEIBISARER IS » RRFERIUL Category 5L EEESEMEE

R o

238 BN R R B 55 (02)2555-1929  £16(02)2556-3336  &H1(04)2301-1255 &7#(06)787-2239 =1#(07)323-1488






